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Ĥ = Ec(N̂ −Ng)
2 −EJ cos(θ̂).
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Ĥ = Ec(N̂ −Ng)
2 −EJ cos(θ̂).
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Î(Ng, δ) =
1

φ0

∂Ĥ

∂δ
.
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k|Î|k
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U(γ) = −E j cos γ − φ0Ibγ = −EJ(cos γ + sγ), s =
Ib
Ic
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H = Hqubit(Nδ, δm + γ) + Ecq2 − EJ [cos(γ) + sγ]
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Uk(γ, Ib, Ng, δm) = Ek(Ng, δ = δm + γ)− EJ(cos γ + sγ)
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Z0Cφ0∂
2
t δ + φ0∂tδ + Z0I0 sin(δ) = udc +

U

2
cos(ωdt)

+����� ���������
�� ������

�� α = φ0ωp

Z0I0
, η = U

2Z0I0
, u = udc

Z0I0
, ω = ωd

ωp
, ωpt = τ

∂2
t δ + α∂δ + sin(δ) = u+ η cos(ωτ)
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δ(τ) = δ0 +Δcos(ωτ + φ)
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Δ2[(−ω2 + Ω2)2 + α2ω2] = η2

φ = arctan( αω
Ω2−ω2 )
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��
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�
����
� ����� ����%� ������

�� #�	���� ��
������ !
����	
� 
��#
��

*�������
	�
�
 ����"� ��
���� 4�5� (
 
���� 
�������� ���
��0�	���) �������

�������� ����
#
�� ��#
�	�� 1�	���
��
��� �
�����
�
���
�� ����
�

� 
�

���
�	�� ��� ��
����� 
���� �
�8

�C

2e

d2φ

dt2
+

�G

2e

dφ

dt
+ Icsinφ = I0 + IP cos 2ωτ ;

3�	���

�� ��� I0 ��
����
���� "���

� 
 ��
�
�
� �� � ����
�
���

C	�
����
�� ��	��D� $�����
� sin φ � ����	�
�	�
 �
� ��� φ0 = arcsin I0
Ic

�� �

E



������� �� ������ �����
�

- x�

sin φ = sin(φ0 + x) � sinφ0(1− 1

2
x2 +

1

24
x4) + cosφ0(x− 1

6
x3).

$������

� ���
����
�	� �� � 	����

 x 
� 	��#��
�� ���� � ���) #�� 
��

�


��

��
�	�� � ������� ���	��#
���� ��
�#
�	�� ����
�
	
�"� �
�� 
� � "����

���

F	�
 �� �� �"��

#
�
	� ��		�����

�� #��
�� � �������) �� ����#
�
 ��	��
�#
�

��	��0
� ����
� � ����	�
�	�
 ωp ) #�� ���� �� �
�
#�	�
 
�����
	�
#
��

ωp = (cosφ0)
1/2ωp0, ωp0 = (2eIc/�C)1/2, τ = ωt;

ξ = 1− (ωp/ω)
2 � 1; θ =

G

2ωC
� 1;

β = 12μ =
1

2
(
ωp

ω
)2tgφ0; γ =

1

6
(
ωp

ω
)2;

3P = (
ωp

ω
)2
Ip
Ic
;

ẍ+ x = ξx− 2θẋ+ βx2 + γx3 − μx4 + 3P cos(2τ)

2��
� �������) ����#���	�) #�� ��1��
�
�
�� ��
 
��

��
�* #��
�* ��"��

���� ������� �� +��
#

� P ) *�������
��-0�- ����
���� 
���#�
 ����� �����

	#
���� ������
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�) #�� ����
�
	
�� ����

� � 	
	����) ��
	������� ���
�

�
�����
�
���
�� ����
�

�� 
��-� ��������
#�	��- ��
���� 4'5� F	�


������ 
� ��		�����

� 
��

��
�� #��
� � 
 � �������) � #��
 βx2 ����	���
��

��� ���
�����

� βx 
� x) �� ����#
�	� ����
�

�) ��
	���-0��) 
���
���)

��*�

#�	��- 	
	���� 	 ������

�� ��	���	��- ����

�) #�� 
 	������	�����

����

- ��������
#�	��"� ����
�
	�� ,��
#
� � ����
�
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��
�* #��
��

���	��#
���� ����
� 
� �*��
�� 	
"
�� 3P cos 2τ 
� ������ 
� #�	���� 
���#�
) 
�

����� 
 
� ���"
* #�	����*� (	���

� ����	������� 

����	 ����
� 
� #�	���� ��

2�� ��� ������ #�	�� ����
�

� 
���� 
��

��
�� �
�) �� 	���� �� 	 ���-#�

��


���#�
 
�#

�-� ��������	� 
 ���"
� "����

�
) ����
�� ������

�� #�	����

��
������ G���� 
	���� ��%�

� ��� ��� H���� 	 ��1��
�
�
���
) ���
	�0
�
 ��

�����

�

x =
∑
n

Bn(τ)e
inτ ;

!
����	
� ��
��� *�������
�� 	����	�
 
���
�

� Bn(τ) � 3��	������ ��

��

�������

� � ����
�

�) ����#
� ����
�

� 
� n9�- "����

��8

B̈n + 2inḂn = πn,

�>



���� /� -�� �� �	����� �� ����	
 ����	���� �&�

"�� πn = (n2−1−2θin+ξ)Bn+β
∑
k

BkBn−k+γ
∑
m,k

BmBkBn−k−μ
∑
k,m,l

BkBmBlBn−m−k−l+{3P
2
}n=2;

I��
 3P
2


���� ��	�� ������ ��� n = 2 �

(����
� �

��

� 
� ��) #�� ��
 n = ±1 ��1��
�
�
� ����� Bn � ������




��� πn �	�� ����

��
� ������ ����* ���������� ξ 
 θ � 2��� "����

�
 	 
������


n = ±1 ���
� 	#
���� �����

��
 ��
��
��
 �����

) #�� 
����� 	������ �

���"
* n� ��� n �= ±1 Bn *�������
�� ����� 
���
�

� ������	� ���
#

�� ��"�

�� ������� 
�
 ��
�%��) #�� 
 ���
�� 
���#�
�

3���#���	�) #�� "����

�
 ����
�
	� 
� ��	���� 
 �����

��) #�� ���������


�� ��	����������	� ��
����
#�	�
� ��
��
��

��� G���� 	#
����) #�� ���

�����"� �
�#�

� B±1 �	� �	����
�� "����

�
 ��	��� ��


��-� �
�#�

�)

��-0
� ���
�� �����	��� � ����
�

�* πn = 0 :�� 
		������ ������

- "����

�

� ����	�
�	�
 	���
�
��
�"� �
�#�

�J �	�
 Bn �����

�� �� 	���
�
��
�� ��#�
) ��

�
� ����� ��	��� �	�
��
������ �����" 
��) 
) ���
� �������) �	���
���	�;� ?#���

�����) #�� � 	
�� ��0�	���

�	�
 x) B−n = B∗
n �

?���
�

� 
� �����- "����

�� 
���� �
�8

2inḂ1 = (−2θi+ ξ)B1 + 2β(B∗
2B3 +B∗

1B2 +B1B0 + ..)+

+ 3γ(2B1B2B
∗
2 + 2B0B

∗
1B2 +B∗2

1 B3 +B2
1B

∗
1 + ..)− (4μB3

1B
∗
2 + 12μB1B

∗2
1 B2 + ...), :�;

@��	� �� ���
����"��� ������ ���
����
��) ��� ��� ��� �����

�� ��
��



�����

 1�� ���
#

� ����� ,�%� ���� 
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 �� �	�*

"����

� 	 n �= ±1 ) ���� �����
�� 
* #���� 	���

����
� �����

�� B±1 ) �

����� �������� P ) ��� #���� ����
�

� ��

��� �
� Ḃ1 = f(B1, B−1, P ). @
�

�

��
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�� �������
�� ��
��� ������
�	���

�
������
�

�"� ����*����

��� �
���
�
�
�	�� ��
�	
����
� 	��
 � 
�!��� ��	!��� ��

�����

�

/������ ��	��� �� �����

 τ0 � einτ → ein(τ−τ0) � 2��
� �������) � ����
����

"����

�
 �����
�	� ���� e−inτ0 ) ���� B → Be−inτ0 . ,���#�� � 
	*��
�� ����
�




�����������	� ���8 3P cos(2τ) → 3
2
P (e2iτ + e−2iτ )e−inτ0 � 7��
� ���	�
 C�������	
��D

����
���� P̃ 
 P̃ ∗(P̃ = P̃ ∗) � 3�������� P̃ ����� 	������	������� 

���	 �)

P̃ ∗ 9 9�� .�"�� "����

�
 �����
���-�	� 
* ���� 	�������-�	�� $�		����
 �

��
���� ����
�

� ����"� �� �
�� ��� ��		����
������ :�;� (
� 	�����
� �

	��� ���
�����

� ����
#
�"� #
	�� ���
��� B0,±1,±2,.. � 3�
 ������ ����� "�����

��������	� ������� �
��
���� e−inτ0 ) "�� n �	�� 	���� 

���	�� �	�* ����
���

B 
 P 	���0
* � ��

�� ���
�����


� I���� ���
	
��	�� �� 	��
"� τ0 ������


� 	���
�%�

�) 
��� #���� � ������� �
��
���� ��
 ������ ����� "����� n

���� ��

������� ,� ��
���� ����
�

� 
� B1 1�� ��������

� ��
�#���) #��

	���� 

���	�� ��
 B � ������ 	��"����� ���
� �� 6��� ���� ������� 
�� �

����
��%�� ��������� ���������#
�� ����������) ��� ��� ����
�� ����� 
���	�
�)

���
� ����

��

 B±1 
 P ��"�� �*��
�� � ������

��

K �#���� 	����

�"�) ���
� 	������ �����) #�� ��� Ḃ1 = f(B1, B−1, P ) ) �����

	�	����� 
� #��
�� 	����%�

� ��������

�"� �
��� ��� 
* 
�*����

� �	���

�)

#�� �������� P ���#

���	� ��� �� �	���
�� 

���
�
�
�	�
 ��
�	
����
� 	��
"�

�����

) #�� 
 �	� "����

�
�

2��
� �������) � ��� f(B1, B−1, P ) ����� �*��
�� #��
� �
��8

��� 	����
� �� B±1 : B1, B
∗
1P J

��� 	����
� �� B±1 8 
�� #��
��J

��� 	����
� �� B±1 8 B2
1B

∗
1 , B1B

∗2
1 P, B3

1P ) � ����� #��
 B∗3
1 P 2 ) ������� ��

���
������� � 	
�� ����	�
 ��������� P � /��
� �����
��) #�� ����� �-���

���
�����

�� �
�� Bp
1B

∗k
1 P l ����� 	����� ��1��
�
�
�) ����-0
�	� ��
��
��

|P |2 � ,���
���) ����� B∗3
1 P 2 ����� 	����� ���

∑
l=0

ak|P |2l � 2�� ��� �� �#
������

������ #��
� 	� 	����
�- 
� ����� � �� P ) �� �� 1��"� ���� �	��
��	� ������ a0 �

��



2���� �"��

#
�	� ��		�����

�� #��
�� ���� �� � ������� �� B±1 ) ��� ��� 1��

������ 
��

��
�� #��
� � ����
�


� ?�� 1�� ��
��
��

� ��������� 
� �	
���

����������� ��

�� ������ ����#
�� ��������� ��
��� ������
�	�
 ����*��� ��


��

�� 	�	���


 ���
���

��� "�#�

� ����
�

� 
� ��	����  ����

�
�

!���) ��
 �
�	
����

�� ���
#

� ������ "����

�
 B1��%
� ����
�

�

πn = 0 ��� n = 0,±2,±3....

+ ���������� ��%�

� 	
	���� 
� 1�
* ����
�

� ����#��	� ������

� ���

Bn(B1, B−1, P ) :

π2 = (3− 4θi+ ξ)B2 + β(2B0B2 +B1B1 + 2βBB3)+

γ[3B2
2B−2 + 3B2

0B2 + 3B0B
2
1 + 6B−1B1B2] +

3P

2
= 0, :�;

π0 = (−1 + ξ)B0 + 2β(B−1B1 +B2B−2 + 2B∗
3B3)+

γ(B3
0 + 3B2

1B−2 + 6B0B2B−2 + 3B2
−1B2 + 6B0B−1B1) = 0, :�;

π3 = (8− 6θi+ ξ)B3 + 2β(B0B3 +B1B2)+

γ
[
3B2

3B
∗
3 + 6B2B

∗
2B3 + 6B∗

1B1B3 + 3B∗
1B

2
2 + 3B2

0B3 + 6B0B1B2 +B3
1

]
= 0; :�;

?#
����� ��
��
��

�) ������� �� �"��

#
����	� � ��%�


 ����#
 :� ��
�#
��

����
�

� 
� B1 ����
� �*��
�� ������

� 
� �����) #�� � 	����

 �� B±1


 � 	����

 �� P ;) ����#
� � ���������� 	����	�
�"� ��%�

� 1�
* ����
�

�

�������

� ��� B0, B2, B3 8⎧⎪⎪⎪⎨
⎪⎪⎪⎩

B0 = 2βB1B
∗
1 + (1

3
β2 − 3

2
γ)B2

1P + (1
3
β2 − 3

2
γ)B∗2

1 P

B2 = −P
2
− 1

3
βB2

1 + ( 7
12
β2 + γ)B1B

∗
1P

B3 =
1
8
βB1P + 1

12
β2B3

1 − 1
8
γB3

1

("��

#�

� � �������


 B0, B2, B3 
� 	��#��
�) �

 ����
�����
� ���) #��

��
 ���	��
��� ��

�* �������

� � π1 #��
� ����� ��	���"� �������) #�� � ��

B±1
 � �� P 
� ����	�����-� 

����	�� 3� ��� �� ��
#

� �� ����� �"��

#
�	�

��		�����

�� "����

� 	 n � 3 � 3������) #�� "����

�
) 
�#

�� 	 � ���
� ���


� �#
�������

��



+ ������ πn �	�� #��
 ∼ B1Bn−1 � ��� LM� �
 2βB1B3 � !���	�
�) #�� B3 ∼ B1P )

���� �������

� B4 = B4(B1, P ) 
�#
��	� 	 B2
1P � @����) ��"�� �� ��*��
� �#�	��

B3 � ���"
* πn ) B3 ����� ��
���
� 
� ����-9�� ����
���� B ) �������

�

������� 
�#

���	� �
�� 	 P ) �
�� 	 
�
������ 	����

 B1 ) ���� �� ������ 
�

��		����
�����"� ��
��
��

�� =
���"
#
�� ��		����

� ���
� �����	�
 
 ���

����� ��	��
* "����

��

2���� 	������ �����
���) #�� � �������

�* ��#
	��

�* 
��
 
� ���
 �#��
�

��������� θ 
 ξ ) ��� ��� 
�
�#���
� 
���	�
�) #�� �

 �
�"� ��
�%� �� 3�


������� 
* �#�	�� 

���
* 
���* #��
�� 
� �������	�� = ��1��
�
�
�� ��
 ��*

���
�����

�* "����

�) ������� ��� 
��-�	�) ����#�-� �������� ∼ θk, ξp �

@��
%�� �����
�
�� π1 ��� ��
��

 B±1
 P 8

B∗
2B3 = − 1

24
β2B1B

∗2
1 P − 1

24
βB3

1P +
1

16
γB3

1P,

B∗
1B2 = −1

2
B∗

1P − 1

3
βB2

1B
∗
1 + (

7

12
β2 + γ)B1B

∗2
1 P,

B1B0 = 2βB2
1B

∗
1 + (

1

3
β2 − 3

2
γ)B3

1P + (
1

3
β2 − 3

2
γ)B1B

∗2
1 P,

B1B2B
∗
2 =

1

6
βB3

1P +
1

6
βB1B

∗2
1 P,

B0B
∗
1B2 = −βB1B

∗2
1 P,

B∗2
1 B3 =

1

8
βB1B

∗2
1 P.

2����� 	������ �	� ����#�

�� ���������� � ��
� ����
�

� Ḃ1 = f(B1, B−1, P ) 8

Ḃ1 = −1

2
iξB1 − θB1 +

1

2
iβB∗

1P − 3

2
iγ̃B2

1B
∗
1 − 3iμ̃1B1B

∗2
1 P − iμ̃2B

3
1P ;

γ̃ = γ +
10

9
β2,

μ̃1 = μ− 15

16
γβ +

7

24
β3, μ̃2 = μ− 15

16
βγ +

7

24
β3

@����
�) #�� ��1��
�
�
�� μ1 
 μ2 ����#
�
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� .�� �� ��
�
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$�		����
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�

� &��
����
� N���
	�
�
�� ���������

u̇ = −∂H

∂v
− θu, v̇ =

∂H

∂u
− θv.

(������
�) ��� ���������-�	� 1�
 ����
�

� ��
 ����*��� � �������	
��

������

�� Ã = u+ iv = A cosα + iA sinα.

˙̃A = u̇+ iv̇ = −∂H

∂v
− θu+ i(

∂H

∂u
− θv) = −∂H

∂v
+ i

∂H

∂u
− θ(u+ iv),

u = Re(Ã) =
1

2
(Ã+ Ã∗),

v = Im(Ã) =
1

2i
(Ã− Ã∗);

I�	�
�� ���
����
�� ���������-�	� 	����-0
� �������

∂

∂u
=

∂

∂A∗ +
∂

∂A
,
∂

∂v
= −i

∂

∂A∗ + i
∂

∂A
;

3���#���	�) #�� ����
�

� ��
��

� 
� Ã ��


���� �
� Ȧ = 2i ∂H
∂A∗ − θA;

��� ��		����
�����"� 
��
 	��#�� :��� ������

�� A ����� �������������

�����- "����

��;8

Ḃ1 = −1

2
iξB1 − θB1 +

1

2
iβB∗

1P − 3

2
iγ̃B2

1B
∗
1 − 3iμ̃1B1B

∗2
1 P − iμ̃2B

3
1P ;

��
�
� H 
���� �� �
�

H = −1

4
ξB1B

∗
1 +

1

8
βP (B∗2

1 +B2
1)−

3

8
γ̃B2

1B
∗2
1 − μ̃1PB1B

∗3
1 − μ̃2PB3

1B
∗
1 ;

/
	���� �������� "��
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